Filomat 31:15 (2017), 4915–4923 https://doi.org/10.2298/FIL1715915K



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

On the Mazur-Ulam Theorem in Non-Archimedean Fuzzy Anti-2-Normed Spaces

Dongseung Kang^a

^aMathematics Education, Dankook University, Gyeonggi-do, 16890, Republic of Korea

Abstract. We study the notion of a non-Archimedean fuzzy anti-2-normed space over a non-Archimedean field and prove that Mazur-Ulam theorem holds under some conditions in non-Archimedean fuzzy anti-2-normed spaces.

1. Introduction

A mapping $f : X \longrightarrow Y$ is called an *isometry* if f satisfies

$$d_Y(f(x), f(y)) = d_X(x, y)$$

for all $x, y \in X$, where $d_X(\cdot, \cdot)$ and $d_Y(\cdot, \cdot)$ denote the metrics in the spaces X and Y, respectively.

The theory of isometric mappings had been originated in the classical paper ([13]) by Mazur and Ulam in 1932.

Mazur-Ulam Theorem. Every isometry f of a normed real linear space X onto a normed real linear space is a linear mapping up to translation, that is, $x \mapsto f(x) - f(0)$ is linear, which amounts to the definition that f is affine.

The Mazur-Ulam theorem is not true for a normed complex vector space. In addition, the onto assumption is also essential. Without this assumption, Baker([2]) proved that an isometry from a normed real linear space into a strictly convex normed real linear space is affine.

In 1984, Katsaras([10]) and Wu and Fang([17]) introduced the notion of a fuzzy norm on linear space and also Wu and Fang gave the generalization of Kolmogoroff normalized theorem for fuzzy topological linear space. Gähler and Gähler([8]) defined fuzzy norm of a fuzzy real number as a difference of its positive and negative parts. Also, Gähler([6, 7]) introduced a new approach for the theory of 2-norm and *n*-norm on a linear space. Chu([5]) studied the Mazur-Ulam theorem in linear 2-normed spaces. Recently, Moslehian and Sadeghi([15]) introduced the Mazur-Ulam theorem in the non-Archimedean strictly convex normed spaces. Choy et al.([4]) investigated the Mazur-Ulam theorem by using the interior preserving mappings in linear 2-normed spaces and also proved the theorem on non-Archimedean 2-normed spaces over a linear ordered non-Archimedean field without the strict convexity assumption. Moreover, Mirmostafaee and Moslehian([14]) introduced a non-Archimedean fuzzy norm on a linear space over a non-Archimedean field.

Communicated by Ljubiša D. R. Kočinac

²⁰¹⁰ Mathematics Subject Classification. Primary 46S10; Secondary 47S10, 26E30, 12J25

Keywords. Mazur-Ulam theorem, non-Archimedean field, non-Archimedean fuzzy anti-2-normed spaces, isometry, fuzzy isometry Received: 29 July 2016; Revised: 06 December 2016; Accepted: 21 December 2016

Email address: dskang@dankook.ac.kr (Dongseung Kang)

In particular, Amyari and Sadeghi([1]) proved Mazur-Ulam theorem under condition of strict convexity in non-Archimedean 2-normed spaces. Jebril and Samanta([9]) introduced a fuzzy anti-norm on a linear space depending on the idea of fuzzy anti-norm was introduced by Bag and Samanta([3]) and investigated their various properties. Many mathematicians considered the fuzzy normed spaces in different branches of pure and applied mathematics.

Recently, Park and Alaca introduced the new result of the Mazur-Ulam theorem for 2-isometry in the framework of 2-fuzzy 2-normed linear spaces; see([16]). They proved the theorem without the condition of preserving collinearity of 2-isometry.

In this paper, we investigate the notion of a non-Archimedean fuzzy 2-normed space over a linear ordered non-Archimedean field. We prove that Mazur-Ulam theorem holds on a non-Archimedean fuzzy 2-normed space without preserving collinearity of 2-isometry and also with interior preserving fuzzy 2-isometry. Note that our proof of the theorem extended the cases where it is a non-Archimedean fuzzy 2-normed space.

2. Non-Archimedean Fuzzy Anti-2-Normed Space

In this section, we introduce a non-Archimedean fuzzy anti-2-normed space.

Definition 2.1. A *non-Archimedean field* is a field \mathcal{K} equipped with a (valuation) function from \mathcal{K} into $[0, \infty)$ satisfying the following properties:

- 1. $|a| \ge 0$ and equality holds if and only if a = 0,
- 2. |ab| = |a| |b|,
- 3. $|a + b| \le \max\{|a|, |b|\}$

for all $a, b \in \mathcal{K}$.

Clearly |1| = |-1| = 1 and $|n| \le 1$ for all $n \in \mathbb{N}$. An example of a non-Archimedean valuation is the function $|\cdot|$ taking everything except 0 into 1 and |0| = 0; see([12]). We call it a *non-Archimedean trivial valuation*. Also, the most important examples of non-Archimedean spaces are *p*-adic numbers; see([14]).

Definition 2.2. Let *X* be a linear space over a field \mathcal{K} with a non-Archimedean valuation $|\cdot|$. A function $|\cdot| : X \times X \longrightarrow [0, \infty)$ is said to be a *non-Archimedean 2-norm* if it satisfies the following properties:

1. ||x, y|| = 0 if and only if x, y are linearly dependent

2. ||x, y|| = ||y, x||

3. ||cx, y|| = |c| ||x, y||

4. $||x, y + z|| \le \max \{||x, y||, ||x, z||\},\$

for all $x, y, z \in X$ and $c \in \mathcal{K}$. Then $(X, \|\cdot\|)$ is called a *non-Archimedean 2-normed space*.

Definition 2.3. Let *X* be a linear space over a field \mathcal{K} with a non-Archimedean valuation $|\cdot|$. A function $N : X^2 \times \mathbb{R} \longrightarrow [0, 1]$ is said to be a *non-Archimedean fuzzy anti-2-norm* on *X* if for all $x, y \in X$ and all $s, t \in \mathbb{R}$,

(aN1) N(x, y, t) = 1 for $t \le 0$,

(aN2) for t > 0, N(x, y, t) = 0 if and only if x and y are linearly dependent,

(aN3) N(x, y, t) = N(y, x, t),

(aN4) $N(cx, y, t) = N(x, y, \frac{t}{|c|})$ for $c \neq 0$,

(aN5) $N(x, y + z, \max\{s, t\}) \le \max\{N(x, y, s), N(x, z, t)\},\$

(aN6) N(x, y, *) is a non-increasing function of \mathbb{R} and $\lim_{t\to\infty} N(x, y, t) = 0$.

The pair (*X*, *N*) is called a *non-Archimedean fuzzy anti-2-normed space*.

The property (aN4) implies that N(-x, y, t) = N(x, y, t) for all $x, y \in X$ and t > 0. It is easy to show that (aN5) is equivalent the following condition:

 $N(x, y + z, t) \le \max\{N(x, y, t), N(x, z, t)\}$, for all $x, y, z \in X$ and $t \in \mathbb{R}$.

Example 2.4. Let $(X, \|\cdot, \cdot\|)$ be a non-Archimedean 2-normed space. Define

$$N(x, y, t) = \begin{cases} \frac{\|x, y\|}{t + \|x, y\|} & \text{when } t > 0, \\ 1 & \text{when } t \le 0, \end{cases}$$

where $x, y \in X$ and $t \in \mathbb{R}$. Then (X, N) is a non-Archimedean fuzzy anti-2-normed space. Indeed,

(aN1) The definition of *N* implies that N(x, y, t) = 1 for $t \le 0$.

(aN2) Let t > 0. $N(x, y, t) = 0 \Leftrightarrow ||x, y|| = 0 \Leftrightarrow x$ and y are linearly dependent.

(aN3) $N(x, y, t) = \frac{||x, y||}{t + ||x, y||} = \frac{||y, x||}{t + ||y, x||} = N(y, x, t)$.

(aN4)

$$N(cx, y, t) = \frac{||cx, y||}{t + ||cx, y||} = \frac{||x, y||}{\frac{t}{|c|} + ||x, y||} = N(x, y, \frac{t}{|c|})$$

for all $c \neq 0$.

(aN5) Let *x*, *y*, *z* \in *X* and *s*, *t* \in \mathbb{R} . If *s*, *t* \leq 0, then $N(x, y + z, \max\{s, t\}) = 1 = \max\{N(x, y, s), N(x, z, t)\}$. If s < 0 < t, then $N(x, y + z, \max\{s, t\}) \leq 1 = \max\{N(x, y, s), N(x, z, t)\}$. Now, let *s*, *t* > 0. We may assume that $\max\{s, t\} = s \geq t$. Since $||x, y + z|| \leq \max\{||x, y||, ||x, z||\}$, we may consider two cases where (a) $\max\{||x, y||, ||x, z||\} = ||x, y||$ and (b) $\max\{||x, y||, ||x, z||\} = ||x, z||$. The case (a) :

$$N(x, y + z, \max\{s, t\}) = \frac{||x, y + z||}{s + ||x, y + z||}$$

$$\leq \frac{||x, y||}{s + ||x, y||}$$

$$\leq \max\{N(x, y, s), N(x, z, t)\}$$

The case (b) :

$$N(x, y + z, \max\{s, t\}) = \frac{\|x, y + z\|}{s + \|x, y + z\|}$$

$$\leq \frac{\|x, z\|}{s + \|x, z\|}$$

$$\leq \frac{\|x, z\|}{t + \|x, z\|}$$

$$\leq \max\{N(x, y, s), N(x, z, t)\}.$$

These cases imply that

$$N(x, y + z, \max\{s, t\}) \le \max\{N(x, y, s), N(x, z, t)\}.$$

(aN6) Let $s < t \le 0$ and let $s \le 0 < t$. These cases imply that $N(x, y, s) = 1 \ge N(x, y, t)$. If 0 < s < t, then

$$N(x, y, s) - N(x, y, t) = \frac{(s - t)||x, y||}{(s + ||x, y||)(t + ||x, y||)} \le 0.$$

Hence N(x, y, *) is a non-increasing function of \mathbb{R} . Also,

$$\lim_{t \to \infty} N(x, y, t) = \lim_{t \to \infty} \frac{||x, y||}{t + ||x, y||} = 0,$$

for all $x, y \in X$.

Definition 2.5. A non-Archimedean fuzzy anti-2-normed space is said to be *strictly convex* if $N(x, y + z, \max\{s, t\}) = \max\{N(x, y, s), N(x, z, t)\}$ and N(x, y, s) = N(x, z, t) imply y = z and s = t.

Definition 2.6. Let (X, N) and (Y, N) be two non-Archimedean fuzzy anti-2-normed spaces. We call f: $(X, N) \rightarrow (Y, N)$ a *fuzzy 2-isometry* if N(a - c, b - c, t) = N(f(a) - f(c), f(b) - f(c), t), for all $a, b, c \in X$ and t > 0.

For given points x, y and $z \in X$, $\triangle xyz$ denotes the triangle determined by x, y and z. A point (x + y + z)/3 is called a *barycenter* of $\triangle xyz$. If p is a point of a set $\{t_1x + t_2y + t_3z | t_1 + t_2 + t_3 = 1, t_i \in \mathcal{K}, t_i > 0, i = 1, 2, 3\}$, then p is called an *interior point* of $\triangle xyz$.

Definition 2.7. Let (X, N) and (Y, N) be two non-Archimedean fuzzy anti-2-normed spaces. We call f: $(X, N) \rightarrow (Y, N)$ an interior preserving mapping of the triangle if f(p) is an interior point of $\triangle f(x)f(y)f(z)$, where p is an interior point of $\triangle xyz$.

3. Mazur-Ulam Theorem

We first denote the set of all elements of \mathcal{K} whose norms are 1 by C, that is,

$$C = \{r \in \mathcal{K} \mid |r| = 1\}.$$

We recall the definition of ordered non-Archimedean field \mathcal{K} .

Definition 3.1. A field \mathbb{K} is *orderable* if there exists a non-empty $\mathbb{K}_+ \subset \mathbb{K}$ such that

(1) $0 \notin \mathbb{K}_+$ (2) for all $x, y \in \mathbb{K}_+, x + y \in \mathbb{K}_+$ and $xy \in \mathbb{K}_+$ (2) for all $x, y \in \mathbb{K}_+, x + y \in \mathbb{K}_+$ and $xy \in \mathbb{K}_+$

(3) for all $x \neq 0 \in \mathbb{K}, x \in \mathbb{K}_+$ or $-x \in \mathbb{K}_+$.

Provided that \mathbb{K} is orderable, we can fix a set \mathbb{K}_+ that satisfies a strict order relation on \mathbb{K} by $x <_{\mathbb{K}_+} y$ if and only if $y - x \in \mathbb{K}_+$. Then we call $(\mathbb{K}, <_{\mathbb{K}_+})$ an ordered field.

Definition 3.2. Let \mathcal{K} be an ordered field and a non-Archimedean field equipped with a (valuation) function from \mathcal{K} into $[0, \infty)$. Then we call \mathcal{K} an *ordered non-Archimedean field*.

In this section, we will prove Mazur-Ulam theorem on non-Archimedean fuzzy anti-2-normed space X over a linear ordered non-Archimedean field \mathcal{K} .

Lemma 3.3. Let (X, N) be a non-Archimedean fuzzy anti-2-normed space over a linear ordered non-Archimedean field \mathcal{K} . Then

$$N(x, y, t) = N(x, y + rx, t)$$
, for all $r \in \mathcal{K}$.

Proof. Let $x, y \in X$ and let $r \in \mathcal{K}$. Without loss generality, we may assume t > 0. Then

 $N(x, y + rx, t) \le \max\{N(x, y, t), N(x, rx, t)\} = N(x, y, t).$

Conversely,

$$N(x, y, t) = N(x, y + rx - rx, t) \leq \max\{N(x, y + rx, t), N(x, rx, t)\} = N(x, y + rx, t).$$

Thus N(x, y, t) = N(x, y + rx, t) for all $r \in \mathcal{K}$. \Box

Lemma 3.4. Let (X, N) be a non-Archimedean fuzzy anti-2-normed space over a linear ordered non-Archimedean field \mathcal{K} with $C = \{2^n \mid n \in \mathbb{Z}\}$ and let $a, b, c \in X$ and t > 0. Suppose X is strictly convex. Then $\alpha = \frac{a+b}{2}$ is the unique element of X such that

$$N(a-c, a-\alpha, t) = N(b-\alpha, b-c, t) = N(a-c, b-c, t)$$

where $N(a - c, b - c, t) \neq 0$ and $\alpha \in \{sa + (1 - s)b \mid s \in \mathcal{K}\}$.

Proof. Let $\alpha = \frac{a+b}{2} \in X$ and t > 0. By Lemma 3.3, we have

$$\begin{split} N(a-c,a-\alpha,t) &= N(a-c,a-\frac{a+b}{2},t) = N(a-c,\frac{a-b}{2},t) \\ &= N(a-c,a-b,|2|t) = N(a-c,a-b,t) \\ &= N(a-c,b-c,t) \,. \end{split}$$

Similarly,

$$N(b - \alpha, b - c, t) = N(b - \frac{a + b}{2}, b - c, t) = N(b - a, b - c, t)$$

= N(a - c, b - c, t).

Hence we have $N(a - c, a - \alpha, t) = N(a - c, b - c, t) = N(b - \alpha, b - c, t)$, that is, the existence part holds. To show the uniqueness part, assume that β is such an element of *X* such that

$$N(a - c, a - \beta, t) = N(b - \beta, b - c, t) = N(a - c, b - c, t)$$

where $N(a - c, b - c, t) \neq 0$ and $\alpha \in \{sa + (1 - s)b \mid s \in \mathcal{K}\}$. Hence we may let

$$\beta = sa + (1-s)b$$

where $s \in \mathcal{K}$. We may assume $s \neq 0$ and $s \neq 1$.

$$N(a-c,b-c,t) = N(a-c,a-\beta,t) = N(a-c,a-(sa+(1-s)b),t)$$

= $N(a-c,a-b,\frac{t}{|1-s|}) = N(a-c,b-c,\frac{t}{|1-s|}).$

Similarly, we have

$$N(a - c, b - c, t) = N(b - \beta, b - c, t) = N(a - c, b - c, \frac{t}{|s|}),$$

that is,

$$N(a-c,b-c,t) = N(a-c,b-c,\frac{t}{|1-s|}) = N(a-c,b-c,\frac{t}{|s|}) \, .$$

We note that

$$N(a - c + a - c, b - c, \max\{\frac{t}{|s|}, \frac{t}{|1 - s|}\})$$

$$\leq \max\{N(a - c, b - c, \frac{t}{|s|}), N(a - c, b - c, \frac{t}{|1 - s|})\}$$

$$= N(a - c, b - c, \frac{t}{|s|}) = N(a - c, b - c, \frac{t}{|1 - s|}),$$

and

$$N(a - c + a - c, b - c, \max\{\frac{t}{|s|}, \frac{t}{|1 - s|}\})$$

= $N(2(a - c), b - c, \max\{\frac{t}{|s|}, \frac{t}{|1 - s|}\})$
= $N(a - c, b - c, \max\{\frac{t}{|s|}, \frac{t}{|1 - s|}\})$.

4919

The previous note implies that

$$N(a-c,b-c,t) = N(a-c,b-c,\frac{t}{|s|}) = N(a-c,b-c,\frac{t}{|1-s|}) \, .$$

The strict convexity of X implies that |s| = |1 - s| = 1. Then there exist elements t_1 and t_2 in \mathbb{Z} such that $1 - s = 2^{t_1}$ and $s = 2^{t_2}$. Since $2^{t_1} + 2^{t_2} = 1$, we know that $t_1, t_2 < 0$. Without loss of generality, we let $1 - s = 2^{-n_1}$ and $s = 2^{-n_2}$ with $n_1 \ge n_2$. If $n_1 \ge n_2$ then

$$1 = 2^{-n_1} + 2^{-n_2} = 2^{-n_1}(1 + 2^{n_1 - n_2}).$$

Hence $2^{n_1} = 1 + 2^{n_1 - n_2}$. This is a contradiction. Thus $n_1 = n_2$, that is, $s = \frac{1}{2}$. This implies that $\beta = \frac{a+b}{2} = \alpha$. Therefore the proof is completed. \Box

Theorem 3.5. Let X and Y be non-Archimedean fuzzy anti-2-normed spaces over a linear ordered non-Archimedean field \mathcal{K} with $C = \{2^n \mid n \in \mathbb{Z}\}$. Let X and Y be strict convexities. If $f : X \longrightarrow Y$ is a fuzzy 2-isometry, then f(x) - f(0) is additive.

Proof. Let g(x) = f(x) - f(0). Since f is a fuzzy 2-isometry, so is g. Since $g : X \longrightarrow Y$ is a fuzzy 2-isometry, we have

$$N(g(a) - g(c), g(a) - g(\frac{a+b}{2}), t) = N(a-c, a - \frac{a+b}{2}, t)$$

= $N(a-c, a-b, t) = N(a-c, b-c, t)$
= $N(g(a) - g(c), g(b) - g(c), t)$.

Similarly, we get $N(g(b) - g(\frac{a+b}{2}), g(b) - g(c), t) = N(g(a) - g(c), g(b) - g(c), t)$. Hence

$$N(g(a) - g(c), g(a) - g(\frac{a+b}{2}), t) = N(g(b) - g(\frac{a+b}{2}), g(b) - g(c), t)$$

= N(g(a) - g(c), g(b) - g(c), t).

We note that

$$N(g(\frac{a+b}{2}) - g(b), g(a) - g(b), t) = N(\frac{a+b}{2} - b, a-b, t)$$

= N(a-b, a-b, t) = 0.

By Definition 2.3, we have $g(\frac{a+b}{2}) - g(b) = s(g(a) - g(b))$, that is,

$$g(\frac{a+b}{2}) = sg(a) + (1-s)g(b)$$

for some $s \in \mathcal{K}$. The uniqueness of Lemma 3.4 implies that $g(\frac{a+b}{2}) = \frac{g(a)+g(b)}{2}$ for all $a, b \in X$. Thus f(x) - f(0) is additive, as desired. \Box

In the following, we will investigate that the interior preserving mapping carries the barycenter of a triangle to the barycenter point of the corresponding triangle. By using this result, we will prove a Mazur-Ulam theorem on non-Archimedean fuzzy anti-2-normed space *X* over a linear ordered non-Archimedean field \mathcal{K} with $C = \{3^n | n \in \mathbb{Z}\}$.

Lemma 3.6. Let (X, N) be a non-Archimedean fuzzy anti-2-normed space over a linear ordered non-Archimedean field \mathcal{K} with $C = \{3^n \mid n \in \mathbb{Z}\}$ and let $a, b, c \in X$ and t > 0. Suppose X is strictly convex. Then $\alpha = \frac{a+b+c}{3}$ is the unique element of X such that

$$N(a - \alpha, b - \alpha, t) = N(b - \alpha, c - \alpha, t) = N(a - \alpha, c - \alpha, t) = N(a - b, a - c, t)$$

where $\alpha \in \{t_1a + t_2b + t_3c \mid t_1 + t_2 + t_3 = 1, t_i \in \mathcal{K}, t_i > 0, i = 1, 2, 3\}$.

4920

Proof. Let $\alpha = \frac{a+b+c}{3} \in X$ and t > 0. By Lemma 3.3, we have

$$\begin{split} N(a - \alpha, b - \alpha, t) &= N(a - \alpha, b - a, t) = N(2a - b - c, b - a, |3|t) \\ &= N(a - c, b - a, t) = N(a - c, b - c, t) \\ &= N(a - b, a - c, t) \,. \end{split}$$

Similarly, we get

$$N(b-\alpha, c-\alpha, t) = N(a-b, a-c, t)$$
 and $N(a-\alpha, c-\alpha, t) = N(a-b, a-c, t)$.

Hence we have $N(a - \alpha, b - \alpha, t) = N(b - \alpha, c - \alpha, t) = N(a - \alpha, c - \alpha, t) = N(a - b, a - c, t)$, that is, the existence part holds. To show the uniqueness part, assume that β is such an element of X such that

$$N(a-\beta,b-\beta,t) = N(b-\beta,c-\beta,t) = N(a-\beta,c-\beta,t) = N(a-b,a-c,t)$$

where $\beta \in \{t_1a + t_2b + t_3c | t_1 + t_2 + t_3 = 1, t_i \in \mathcal{K}, t_i > 0, i = 1, 2, 3\}$. Hence we may let $\beta = s_1a + s_2b + s_3c$ where $s_1 + s_2 + s_3 = 1$. Then we have

$$\begin{split} N(a-b,a-c,t) &= N(a-\beta,b-\beta,t) = N((1-s_1)a-s_2b-(1-s_1-s_2)c, b-a,t) \\ &= N((1-s_1-s_2)a-(1-s_1-s_2)c, b-a, t) \\ &= N(a-c, b-a, \frac{t}{|1-s_1-s_2|}) \\ &= N(a-b, a-c, \frac{t}{|1-s_1-s_2|}). \end{split}$$

Also, we have

$$N(a - b, a - c, t) = N(a - \beta, c - \beta, t) = N((1 - s_1)a - s_2b - (1 - s_1 - s_2)c, c - a, t)$$

= N(s_2a - s_2b, c - a, t)
= N(a - b, a - c, $\frac{t}{|s_2|}$).

Similarly, we get

$$N(a-b, a-c, t) = N(b-\beta, c-\beta, t) = N(a-b, a-c, \frac{t}{|s_1|}),$$

that is,

$$N(a-b,a-c,\frac{t}{|1-s_1-s_2|}) = N(a-b,a-c,\frac{t}{|s_2|}) = N(a-b,a-c,\frac{t}{|s_1|}).$$

We note that

$$\begin{split} &N(a-b+a-b+a-b,a-c,\max\{\frac{t}{|s_1|},\frac{t}{|s_2|},\frac{t}{|1-s_1-s_2|}\})\\ &\leq \max\{N(a-b,a-c,\frac{t}{|s_1|}),N(a-b,a-c,\frac{t}{|s_2|}),N(a-b,a-c,\frac{t}{|1-s_1-s_2|})\}\\ &= N(a-b,a-c,\frac{t}{|s_1|}) = N(a-b,a-c,\frac{t}{|s_2|}) = N(a-b,a-c,\frac{t}{|1-s_1-s_2|})\,, \end{split}$$

and

$$N(a - b + a - b + a - b, a - c, \max\{\frac{t}{|s_1|}, \frac{t}{|s_2|}, \frac{t}{|1 - s_1 - s_2|}\})$$

= $N(3(a - b), a - c, \max\{\frac{t}{|s_1|}, \frac{t}{|s_2|}, \frac{t}{|1 - s_1 - s_2|}\})$
= $N(a - b, a - c, \max\{\frac{t}{|s_1|}, \frac{t}{|s_2|}, \frac{t}{|1 - s_1 - s_2|}\}).$

4921

The strict convexity of X implies that $|s_1| = |s_2| = |1 - s_1 - s_2| = 1$. Then there exist elements k_1 , k_2 and k_3 in \mathbb{Z} such that $s_1 = 3^{k_1}$, $s_2 = 3^{k_2}$ and $1 - s_1 - s_2 = 3^{k_3}$. Since $3^{k_1} + 3^{k_2} + 3^{k_3} = 1$, we know that k_1 , k_2 , $k_3 < 0$. Without loss of generality, we let $s_1 = 3^{-n_1}$, $s_2 = 3^{-n_2}$ and $1 - s_1 - s_2 = 3^{-n_3}$ with $n_1 \ge n_2 \ge n_3$. Then

$$1 = 3^{-n_1} + 3^{-n_2} + 3^{-n_3} = 3^{-n_1}(1 + 3^{n_1 - n_2} + 3^{n_1 - n_3}).$$

Hence $3^{n_1} = 1 + 3^{n_1 - n_2} + 3^{n_1 - n_3}$. This is a contradiction. Thus $s_1 = s_2 = s_3 = \frac{1}{3}$. This implies that $\beta = \frac{a+b+c}{3} = \alpha$. Therefore the proof is completed. \Box

Theorem 3.7. Let X and Y be non-Archimedean fuzzy anti-2-normed spaces over a linear ordered non-Archimedean field \mathcal{K} with $C = \{3^n \mid n \in \mathbb{Z}\}$. Let X and Y be strict convexities. If $f : X \longrightarrow Y$ is an interior preserving fuzzy 2-isometry, then f(x) - f(0) is additive.

Proof. Let g(x) = f(x) - f(0). Since f is a fuzzy 2-isometry, so is g. For a, b and $c \in X$, let $\triangle abc$ be a triangle determined by the points a, b and c, and let x be an interior point of $\triangle abc$. Since f is an interior preserving mapping, we may write

$$f(x) = s_1 f(a) + s_2 f(b) + s_3 f(c)$$

where $s_i \in \mathcal{K}$, $s_i > 0$ (*i* = 1, 2, 3) with $s_1 + s_2 + s_3 = 1$. Then we have

$$g(x) = s_1 f(a) + s_2 f(b) + s_3 f(c) - f(0)$$

= $s_1(f(a) - f(0)) + s_2(f(b) - f(0)) + s_3(f(c) - f(0))$
= $s_1 g(a) + s_2 g(b) + s_3 g(c)$.

Hence g(x) is an interior point of $\triangle g(a)g(b)g(c)$, that is, g is also an interior preserving mapping. Since $g: X \longrightarrow Y$ is a fuzzy 2-isometry, we have

$$\begin{split} N(g(a) - g(\frac{a+b+c}{3}), g(b) - g(\frac{a+b+c}{3}), t) \\ &= N(a - \frac{a+b+c}{3}, b - \frac{a+b+c}{3}, t) \\ &= N(a-b, b - \frac{a+b+c}{3}, t) = N(a-b, 2b-a-c, |3|t) \\ &= N(a-b, a-c, t) = N(g(a) - g(b), g(a) - g(c), t). \end{split}$$

Similarly, we get

$$\begin{split} N(g(b) - g(\frac{a+b+c}{3}), \ g(c) - g(\frac{a+b+c}{3}), \ t) \\ &= N(g(a) - g(b), \ g(a) - g(c), \ t) \\ &= N(g(a) - g(\frac{a+b+c}{3}), \ g(c) - g(\frac{a+b+c}{3}), \ t) \,. \end{split}$$

Since $\frac{a+b+c}{3}$ is an interior point of the triangle $\triangle abc$ and g is an interior preserving mapping, $g(\frac{a+b+c}{3})$ is an interior point of the triangle $\triangle g(a)g(b)g(c)$. By the uniqueness of Lemma 3.6, we have

$$g(\frac{a+b+c}{3}) = \frac{g(a)+g(b)+g(c)}{3}$$

for all *a*, *b*, $c \in X$. Thus f(x) - f(0) is additive, as desired. \Box

Acknowledgement

The author would like to thank the referee for valuable comments. According to comments, we reproduce Theorem 3.5 without assuming the collinearity.

References

- M. Amyari, Gh. Sadeghi, Isometrics in non-Archimedean strictly convex and strictly 2-convex 2-normed spaces, Nonlinear Anal. Var. Prob. 35 (2009) 13–22.
- [2] J. A. Baker, Isometries in normed spaces, Amer. Math. Monthly 78 (1971) 655-658.
- [3] T. Bag, T. K. Samanta, A comparative study of fuzzy norms on a linear space, Fuzzy Sets Syst. 159 (2008) 670-684.
- [4] J. Choy, H.-Y. Chu, S. H. Ku, Characterizations on Mazur-Ulam theorem, Nonlinear Anal. 72 (2010) 1041–1045.
- [5] H.-Y. Chu, On the Mazur-Ulam problem in linear 2-normed spaces, J. Math. Anal. Appl. 327 (2007) 1041–1045.
- [6] S. Gähler, Linear 2-normierte Raume, Math. Nachr. 28 (1964) 1–43.
- [7] S. Gähler, Untersuchungen uber verallgemeinerte *m*-metrische Raume, I, II, III, Math. Nachr. 40 (1969) 165–189.
- [8] S. Gähler, W. Gähler, Fuzzy real numbers, Fuzzy Sets Syst. 66 (1994) 137–158.
- [9] I. H. Jebril, T. K. Samanta, Fuzzy anti-normed linear space, J. Math. Tech. 2010 (2010) 66-77.
- [10] A. K. Katsaras, Fuzzy topological vector spaces II, Fuzzy Sets Syst. 12 (1984) 143–154.
- [11] Al. Narayanan, S. Vijayabalaji, Fuzzy n-normed linear spaces, Int. J. Math. Math. Sci. 2005 (2005) 3963–3977.
- [12] L. Narici, E. Beckenstein, Strange terran-non-Archimedean spaces, Amer. Math. Monthly 88 (1981) 667-676.
- [13] S. Mazur, S. Ulam, Sur les transformation isométriques d'espaces vectoriels normés, C. R. Acad. Sci. Paris 194 (1932) 946–948.
- [14] A. K. Mirmostafaee, M. S. Moslehian, Stability of additive mappings in non-Archimedean fuzzy normed spaces, Fuzzy Sets Syst. 160 (2009) 1643–1652.
- [15] M. S. Moslehian, Gh. Sadeghi, A Mazur-Ulam theorem in non-Archimedean normed spaces, Nonlinear Anal. 69 (2008) 3405–3408.
- [16] C. Park, C. Alaca, Mazur-Ulam theorem under weaker conditions in the framework of 2-fuzzy 2-normed linear space, J. Ineq. Appl. 78 (2013), DOI: 10.1186/1029-242X-2013-78.
- [17] C. Wu, J. Fang, Fuzzy generalization of Kolmogoroff's theorem, J. Harbin Inst. Tech. 1 (1984) 1–7.